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1. BigE 5%, 8,000Bq/keZ#BZ5HD
e - B 5% 105 %
RERRNOUE T 2811 FR33.1.1 3811
B2 (BfI: bY) 3,404.1 1,090 238 194
BEREVOREE100& L-1BADIE 100 32 7 6
2. FiKE 5% 8,000Bg/kex B2 51D
- g  BE 5% 1054
RERRNSOBE 5500 FER33.1.1 3811
B2 (B V) 3,643.0 1,030 78 0.6
EEEEDEOREE100E LI-BE0HE 100 28 2 0.02
3. IFRE 5% 8,000Bg/kex B2 51D
e e B &% 105 %
HERRNOUE TR28.1.1 3311 FH38.1.1
B2 (B V) 13,533.1 9,680 6,750 4,250
EEEEYORS£100& L-BEDIE 100 72 50 31
4. HEE 5% 8,000Bq/ke%E 22 BEHMD
e e B 5E#% 105 %
HERRNOUE TR28.1.1 3311 FH38.1.1
B2 (B V) 1,186.7 538 323 269
BEEEVMOREF100& L-BADIE 100 45 27 23
5. & 5%, 8,000Ba/keZ X 2HD
o = R S5&ik 105 4%
HEERMOHUE 2811 FR33.1.1 TH38.1.1
B2 (B bY) 3,690.2 2,500 1,760 1,510
EEEEMORBEI0E LI-BE0IE 100 68 48 41
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(%) SBHREBOMFEEEZIOELIZEZTDREDERX
EF R/E 5&% 105%
FRk23.3 FRk28.1.1 FRE33.1.1 FRk38.1.1
) L13ADMETRERE 50 10.0 1.9 0.3
) L13TOMETRERE 50 448 39.9 35.6
&5t 100 547 41.8 35.9
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